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4. Calculate du for u = 2 x4
+ 8 x .

Since du = u¢HxL dx, du = I8 x3 + 8M dx.

10. Write Ù xHx + 1L9 dx  in terms of u and du where u = x + 1. Then evaluate the integral.

If u = x + 1, then du = dx and also x = u - 1. So 

Ù xHx + 1L9 dx

= Ù Hu - 1L u9 du

= Ù u
10

- u9 du

=
u11

11
-

u10

10
+ C

=
Hx+1L11

11
-

Hx+1L10

10
+ C

16. Write Ù x 4 x - 1 dx  in terms of u and du where u = 4 x - 1. Then evaluate the integral.

If u = 4 x - 1, then du = 4 dx. This means dx =
1

4
du and x =

u-1

4
. So 

Ù x 4 x - 1 dx

= Ù
u-1

4
u 1

4
du

=
1

16 Ù Hu - 1L u1�2 du

=
1

16 Ù Iu3�2 - u1�2M du

=
1

16
J 2

5
u5�2 -

2

3
u3�2N + C

=
1

16
J 2

5
JH4 x - 1L5�2 -

2

3
H4 x - 1L3�2N + C =

1

40
H4 x - 1L5�2 -

1

24
H4 x - 1L3�2 + C



26. Evaluate Ù x2Ix3
+ 1M dx .

Rearrange Ù x2Ix3 + 1M dx as Ù Ix3 + 1M x2 dx. Try the substitution u = x3 + 1, then du = 3 x2 dx or x2 dx =
1

3
du. 

Ù x2Ix3 + 1M dx

= Ù
u

3
du

=
u2

6
+ C

=
Ix3+1M

2

6
+ C

30. Evaluate Ù H2 x + 1L Ix2
+ xM3

dx

Rearrange Ù H2 x + 1L Ix2 + xM3
dx as Ù Ix2 + xM3 H2 x + 1L dx. Try the substitution u = x2 + x, then du = H2 x + 1L dx. 

Ù H2 x + 1L Ix2 + xM3
dx

= Ù u
3

du

=
u4

4
+ C

=
Ix2+xM

4

4
+ C
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